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Translation in English

Sub: Indian Economy (Part-1) (ECG-101)

Instructions:  Attempt all questions.

Q.1.  Answer in detail (Any Two) (40)
1. Explain the causes of high birth rate in India.
2. Explain the trends in agricultural productivity in India.
3. Explain the causes of small size of land holding in India .
4. Explain the importance of irrigation facility under Indian context .
Q.2. Answer in brief (Any Three) (30)
1. Explain the structural changes in Indian Economy after independence .
2. Explain the causes of low agriculture productivity in India .
3. Explain the Agriculture price policy.
4. Explain the family planning programm.
5. Explain the theory of demographic transition.
Q.3. Write short notes. (Any Two) (30)
1. NABARD
2. Types of land holding
3. Co-operative farming
4. Bhoodan movement
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